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INSTRUCTIONS



Congratulations on your purchase of the Canon F-300P. Your new programmable cal-
culator was designed and manufactured with the utmost care and we are confident
that it will give complete satisfaction. This instructions will help you to use the F-300P
more effectively. Please read it carefully and perform the example exercises to familia-
rize yourself with all of the F-300P’s many useful functions.
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1 | Exterior Features and Parts 1)

Display on/Clear key
Display contrast adjustment knob Connector cap

) Printer connector
Display Main function keys

Power switch———| T;]—,_;E; S
Displayoffkey —— | 3 & @]

L=
R M

|
Main control keys Numeric and operation keys

Battery Replacement

The display will become faint and hard to read when the batteries start to run down. When this
happens, change the batteries as illustrated below. Use three (3) alkaline batteries: type LR-44
or three (3) silver oxide batteries: type G13.

WARNING

Keep coin-type batteries out of the |£S - " < % SS>« )
reach of children. If batteries are ™ S
swallowed, contact a physician im- = %}\ =
mediately. . ’

The contents of the program memory and all other
memories are cleared during battery replacement.

Protecting the Memory Contents during Battery Replacement

You can protect the memory contents during battery replacement by using the Canon Charger

CH-3 (optional) and Canon PSC-3 (Power Supply Cord, optional) with the F-300P. Use the fol-

lowing procedure when attaching the CH-3 and PSC-3 to ensure memory protection.

1. Connect the CH-3 to the PSC-3 and then plug the CH-3 into an electrical outlet.

2. Make sure that the F-300P's power switch is ON (green). Then connect the PSC-3 to the
printer connector of the F-300P.

3. Turnthe F-300P'’s power switch OFF (black).

4. Replace batteries.

5. After battery replacement, turn the F-300P’s power switch back ON just prior to disconnect-
ing the PSC-3 from the F-300P.

6. Unplug the CH-3 from the electrical outlet.

Operating the F-300P on AC Power ey

The Canon Charger CH-3 and PSC-3 can also be used to

operate the F-300P on AC power. In this case the CH-3 = o -

functions only as an AC adaptor since the F-300P does M 300P

not use rechargeable batteries. Use steps 1 —3 as de- CH-3

scribed in “Protecting the Memory Contents during Bat- L

tery Replacements” to connect the CH-3 and PSC-3 with the F-300P.

* Be sure to turn the F-300P’s power switch OFF (black) when operating the F-300P on AC
power. Leaving the power switch ON during AC operation may damage the calculator's
circuitry.




' Features of the F-300P

1) Large 4-level, 20-character Liquid Crystal Display

Mode line Message line  Stepitemline The top line displays informa-
; tion from the calculator,

[i o s o including the current oper-

e\;.lj» SIH 30= ating status. The second to
5.343237291E 12 fourth lines display calculation

expressions and results.

Let's take a closer look at the display.
1. Turn the power switch on (green).

The display will be as shown in <I> at the *

>RDY D
right, indicating that the F-300P is in the
general calculation mode (RDY) and that
the angle unit is “degrees”. This will be ex-
plained in more detail later. T\_
cursor <>

2. Enter the expression.
For example, to enter (25—8) x 4, press the
keys corresponding to each element in the
expression:
(& MEEEERDE®
Each element of the expression will be dis- 9 SRDY
played as the corresponding key is

D

pressed. The flashing cursor, originally dis-
played in the bottom left-hand corner, will
move across the display as the expression
is entered (<11>).

(25-8 )XT

\- cursor <i>

3. The answer....
Finally press the (=) key. The display will é SADY
be scrolled up two lines so that you can
view the expression and the answer at the

D
(25-8)%x4= <« expression

Y . 68. « answer
same time, as shown in <IlI>. The large
display boasts several unique functions, T
. . Fy i The cursor returns toits original  <Ill >
including the capability to display more position.

than one answer for certain calculations.



Display Contrast Adjustment

Use the display contrast adjustment knob located on the
top left-hand side of the calculator to adjust the display to
the desired brightness.

2) Memory Retention with the Display Off
1. Turn the display off

=

The display is cleared. If no entry is made for a period of 4 minutes, the internal

timer will automatically turn the display off to prevent battery drain.

* In normal use, use the & and keys to turn the calculator on and off. Please
note that turning the power off using the power switch clears all the programs
and data stored in the calculator’'s memories.

2. Turn the display on again

OoN
©

Let us assume that the status of the calculator was as shown in <Ill> when the
key was depressed and the display turned off. The same display will appear as
soon as the & key is pressed, indicating that the calculator has retained its
status immediately prior to when the display was turned off. The F-300P has a
memory protection feature which preserves expressions and data within the cal-
culator even when the display is turned off. This means that calculations can be
continued easily even after the calculator’s display has been turned off temporarily
using the key. Let's try subtracting 12 from the result of the calculation de-
scribed in the preceding section.

Press (=)(1)(2) . The display shown in 9 (SRDY D 1
<IV> will appear. Next press the (=) key. (25-8)x4=
The answer will be displayed as shown in 68.
<V>. 6. 8E 01-12_
— / <IV>
Exponentindicator 6.8 x 10=68
3. Once again from the top..... é ( SRDY D o)
When the display is on, (&) acts as a clear 6. 8E 01-12=
key. Pressing it clears the calculation cur- 56.
rently in progress and restores the display |

to the initial status <I1>. Data and expres-
sions previously stored in the memory are
not affected.

<V>



4. All Clear

Turning the power off using the power switch clears all the
programs and data stored in the calculator's memories.
The slightly recessed all clear switch located on the back
of the calculator's main body performs the same function.
Sometimes immediately after battery replacement, the
keys lock and the display functions erratically. To restore
the calculator to normal status, depress the all clear
switch using the tip of a ballpoint pen.

all clear
switch




3) 3-Level Shift Keys
Each of the F-300P’s keys have 3 functions that can be activated by simply chang-
ing the calculation mode.

1. Simple Key Operation (Normal Mode)
The function indicated on the keytop is activated or numbers on the keytop is
entered.

—
oo AT sene Canon e cioies F-800P
>RDY D
5x3-SMO1_
woor o - ‘ﬁ -
ErIEEEEEEN X
EIl X ICOEEEEER K )

2. Key Operations Preceded by (W) (Inverse Mode)
This activates the function indicated in green above the key.

Inverse key

.

B@EJP
PR ClEEck-Nco)
Inverse sign @@@

@ i i an @

=il X K ¥ ¥
EIrICEEEECEE XX X N
SLLILEEHEEC N N F )

3. Key Operations Preceded by i) (Alphabet Mode)
This mode is used to enter the characters and symbols indicated in red below each
key (see page 8).

— E——

woon e ssace rivrere Canon . S22 F-800P
>RDY Dl’\LPHA = = @ = 5
Alphabet mode display OOO O

CANON Veés_ . ‘ ﬁ . .
== G oo
ErIcEEEEEE XX X N
CLLNIEBEEECE NN

Alphabet key



4) Choice of 5 Modes
Press keys (1] through (5] after first pressing the key. The display will
appear as shown below, indicating the following functions.

(& ) (G)RDY (Ready) Mode

This is the mode for general calculations. é SRDY D

As explained earlier, this mode is used to
input expressions and perform calculations
(page 23). Program input (the storage of al-
gebraic expressions) is also carried out in

this mode (page 33).

(& [=)(2) CPM (Clear Program Memory) Mode
The CPM mode allows you to determine 9 @CPM D )
what programs are currently stored in the

1:000 2:000 3:000

memory and how much memory is being 4:000 5:000 6:000

used (page 38). It is also used when erasing

N . 7:000 R:336 o |
specific programs or clearing all memory
contents (page 38).
@ (3) DFM (Define Memory) Mode é (SDFM )
The F-300P has 6 memories for storing PRG:336 *R:336
data. This mode is used to change the MEM: 06
number of memories (pages 25, 28). The MEM S1ZE 2

N o J

current number of memories and the size of
the program area are displayed (page 38).
(& =) (a)ST1 (Statistic 1) P(>st1 o N:00O)
This is the mode for single-variable statisti-
cal calculations. Simply input data one after
another and the F-300P will simultaneously
calculate and display the mean, population
standard deviation, and sample standard
deviation (page 43).

@ (5] ST2 (Statistic 2) é >ST2 D X:000
This mode is used for two-variable statisti-
cal calculations. As with ST1, simply input
the data and the F-300P will calculate and
display the gradient of the regression line,
the intercept and coefficient. ST2 can also be used to calculate 11 different statisti-
cal values (page 45).




010

5) Input of Alphabetic Characters and Symbols
Press to set the calculator in the alphabetic mode ( (1) ). The first line of
the display will appear as shown in <|>.

1. Entering Alphabetic Characters and 9 SRDY D ALPHA
Symbols
The calculator is locked in this mode until
the key is pressed again. Just key in as
many characters as required. To produce

<>
the display shown in <II>, for example,

press the following keys: é SRDY D
@ O e B CO ) @ 60 @& @ @ D
c A N o N sP C A L c v

PO DODDME D e D CANON CALCULATORS
N E@EBEND ® @& D
VoE Ry s om AR ARE VERY SMART._

E SP

W) >
( “® represents the space key.)
Pressing (w) when the calculator is in the alphabet mode allows you to use the

following number keys as characters:
H~0,®.0.®0,® e, 0,0, 3, e

2. Insertion of Memos and Comments for
Use during Calculation

Press the (=) key. “0” will appear on the 9 SRDY D

display as shown in <IlI>. This is because ARE VERY SMART.=
characters entered in this mode have abso- 0.

lutely no effect on calculations. This feature

permits the type of operation shown in = <>
<IV>.

Press the following keys.

EBPEECPTHEDOO  aP(Smy b
HOBGEE BOOK 300x15=

The insertion of this kind of comment clari-

fies the calculation for other users. This fea-

ture is even more convenient when Canon'’s

optional Thermal Printer X-711 is attached.

4500.

<IV>



The Line Buffer (LB)
Expressions and characters entered into the F-300P are initially stored in the line
buffer (LB). Calculations are performed when an execution key such as (=) is
pressed. The line buffer can hold up to 83 (75 in the ST2 mode) numbers, func-
tions, letters, symbols, etc. When the entry exceeds
83 characters, the word “END"” appears on the
message line of the display. The calculator will not
accept any further key inputs and it will be necessary
to divide the calculation up into manageable units.

>RDY D END
36x28+(156-27)
SIN 56-38+52F




6) Easy Error Diagnosis
Consider the following problem. 9 [SRDY D
(13+64)(21—-8)=
Try performing the calculation.
Pressing (=] should produce the result (13+464)(21-8)_
shown in <II>. N

An error has occurred. The message
“?8Y( )" appears in the upper right-hand
corner of the display, indicating an error in
parentheses usage.

-
[ >rRoY D 28Y ()

(13+64)(21-8)=

& J

t Biinks <>

The cause of the problem is the omission of the multiplication symbol “x” between the
parenthese. Though this omission is acceptable in mathematics, the calculator is
not equipped to make this judgement. Entries must be made without abbreviations.
If an error occurs, either erase the expression with the (¢] key or display it for cor-
rection using (=] . The F-300P can diagnose the causes of errors and display
23 different error messages. This capability makes it easy to locate the source of an
error. (The messages are listed at the end of these instructions starting on page 51.)

(Special Precautions during Use

The F-300P is composed of an LS| and other precision electronic parts. It
should not be used under any of the following conditions.

In locations subject to extreme In locations where the air is In direct sunlight.
temperature variations or high dusty or salty.
humidity.

.

Do not clean the F-300P with volatile liquids like thinners
or benzine or with wet cloths. Always use a soft, dry cloth.

L




3 | Key Functions

1) Control/Editing Keys

1 Display ON/OFF Keys
Display off key: Turns the display off.
& Display on/clear key: 1) Turns the display on.
2) If the display is on, clears the memory of expressions
currently entered and turns all sub-modes off
(except the program input/edit sub-modes).
2 Mode Setting Keys
Mode key: Sets the calculator's mode when followed by (1) — (5] .
—(1) RDY mode: For general and programmed calculations
—@e Alphabet key: Sets the alphabet mode for displaying letters and sym-

bols. Turn off by pressing again.

= Edit key: Sets the program entry/edit mode. When followed by o) —
, permits entry or editing of the corresponding program. Depress-
ing the key and then the (-] key permits editing of the contents
of the line buffer.

- Program key: Sets the program execution sub-mode. Follow with &
— to execute the program of the corresponding number. If this key

is pressed while the calculator is in the edit sub-mode, the program
currently being entered or edited will be executed.

—{(2) CPM mode: Displays the amount of memory (number of steps) currently
being used by each program. When followed with (1] — (7], deletes the
corresponding program. Pressing the (=] key clears the entire memory.

—{3) DFM mode: Displays the number of memories and the area of memory cur-

rently available for programs. The number of memories can then be

changed by inputting a two-digit number between (o)(e) and (4) .

—a) ST1 mode: For one-variable statistical calculations. Simply input data and

the F-300P will automatically calculate means, standard deviation, and
other statistical values.

ST2 mode: For two-variable statistical calculations. Just enter the data
and the calculator will automatically perform linear regression calcula-
tions.



®®

3 Calculation/Display Keys

Inverse key: Provides a shift function to access the characters indicated in
green above the various keys. An “¥’ appears on the display when this key is
depressed.

Degree-radian-gradient key: Defines the unit of an angle. The unit is
changed each time the key is depressed (D—R—G—D—---). (D=degree,
R=radian, G=gradient; right angIe=90(D)=g(R)=100(G))

(cv) Change notation key: Switches the floating display to the exponential display
or vice versa. Valid only when the results of a calculation are being displayed.
Values to be converted to integer form must be within the following range: 0 or
10-10<IxI <10,

@ Integer sub-mode key: Activates the integer sub-mode. Valid after (=) is
pressed and during substitution into memory using the (sm or key, it con-
verts the results of calculations into integers. Cancelled by pressing (c] or
changing the mode.

If the (™M or key is used for expressions in the integer sub-mode, the
value is first converted into integers and then stored or accumulated in the
specified memories.

¢ Hyperbolic key: Used to calculate hyperbolas and inverse hyperbolas. An *
appears on the display when this key is depressed.

4 Memory Keys

Memory plus key: The value entered or calculated immediately prior to de-
pressing this key is added to the memory specified by the corresponding
number.

(sM Store memory key: The value entered or calculated immediately prior to de-
pressing this key is stored in the memory specified. Data previously stored in
that memory is deleted.

Recall memory key: Recalls the contents of the specified memory when de-
pressed before the memory number ( (0] (7] ~ (2] (&) ).

Note

Depressing a control key may cause a flashing
cursor to appear on the display, usually in the
message line at the top (see diagram at right). If
another control key is depressed while the cursor
is still flashing, meaningless characters may be
displayed. However, this will not affect subsequent
calculations.

>RDY D MODE

.

Flashing cursor in message line




5 Edit Keys
Line up, line down keys: Used when entering expressions or comments of
two or more lines. Scrolls the expressions up or down one line and moves
the cursor to the beginning of the line. With one-line expressions, the
cursor simply returns to the beginning of the line.
(=J(=) Cursor left/right keys: Shifts the cursor one position to the left or right.
(W) &2 Delete key: Deletes the blinking character at the current cursor position.
= Insert key: Inserts a space immediately before the character at the current
cursor position, permitting the entry of one character.
The above keys are only valid during the entry of calculation expressions or comments.
6 Print Keys
Normal, wide, small characters key
(=) Printkey
(nv) Screen copy key
These keys can be used only when the Canon Thermal Printer X-711 is attached to the
F-300P. See page 54 for further details.

2) Calculation and Coefficient Keys
1 Value (1)
(o) — (2] Numeric keys: In addition to functioning as ordinary numeric keys, this
group is also used to specify mode or memory numbers.
() Decimal point key

2 Value (2)
(w) 7 key: Used for constant = (circle ratio = 3.141592654).
Abbreviated multiplication is permitted in the Value (2) mode only when a certain
value is being multiplied by 7. The key can be used in the same way.
Example: ()W) g5 =57=5X=

(3) "M (o) (1) "™ (o) (2) = 3RMO1RMO2 (display)

= 3 x (contents of memory 01) X (contents of memory 02).



3 Parentheses, Minus Sign, Exponent Keys
(J() Open and close parenthesis keys: Always used in pairs.

=)

Minus sign key: Alters the positive/negative sign of the value immediately
following it (sign change).
Example: )(1)(8) =-15
This calculator displays the minus sign as a “small minus,” and distin-
guishes it from the minus sign used in subtraction. When the printer is
used, however, they are both printed out in the same way. Be careful when
using this key in parentheses and memory calculations. For details, refer
to page 25.
Exponent key: It is possible to input a 10-digit mantissa and its sign and a
2-digit exponent and its sign.
Example: (1) (=] (3) (] (2) (&) () (2) (&)
= 1.392E-28 (displayed) = 1.392 x 10-28

® Enter up to 2 digits for the exponent. If more than 2 digits are entered,

the last 2 digits depressed are retained as the exponent.

Example: (8] (+] (1J(2)(3)(a) (=) 9.88E34
® Decimal points entered as part of an exponent are ignored.

Example: (1] (=] (2] (&) ¥ (1) () (2] (=) 1.24E12

® Minus signs entered between digits in the exponent are ignored.

Example: (1] (+] (8] &) (=) (3] (=) (2] (=) 1.5E—32

4 Function Keys Preceded and Followed by Values
Functions in which the calculation symbol is always preceded and followed by
values (e.g. 2x3, 8\/178) are referred to as 2-value functions (indicated by F3 in
error messages).

+

BHHO®

B

B4

Addition key

Subtraction key

Multiplication key

Division key

Power key

Example: (3] (e") (5] =375 (display) = 3¢

Power root key

Example: (6] (W & (7)(2) (o) = 6%/ 726 (display)
=729

If you are extracting the root of a numeric expression, the expression must

be enclosed in parentheses.

Example: (8)W) o (D@ @) X)) () =3/32x8



5 Function Keys Followed by Values
Functions in which the calculation symbol is always followed by values (e.g. SIN 30,
LOG 51), are referred to as value-suffix functions (indicated by F1 in error

messages).

(1) Trigonometric and Inverse Trigonometric Functions
First specify the angle unit to be used with the key.

Sine key Example: (D) (3) (o) =SIN30°

fcog) Cosine key R 680 e & @)@ =CoS—
Tangent key 8

(W) &5  Arcsine key Note:

=) Arccosine key Be careful about accuracy in calculations
™) G5 Arctangent key using the constant 7 when the angle unit is

set to rad. Errors of up to =1 may appear in

the ninth column.

Example: TAN 157 = —1.74---E-10 (dis-
play).

(2) Exponents and Logarithms
Exponential function key
Example: (¢5) (1) (o)
=e10 (display) = e'°
19" Common exponent key
Example: (W) &% (1) (-] (2
=10 1.2 (display) = 1012
(in)  Natural logarithm key
Example: (in) (2)
= LN 2 (display) =In 2
(W) 52 Common logarithm key
Example: (w7 (8) = LOG 8 (display)
=log 8
(3) Square Roots and Cube Roots
Square root key
Example: (3) (o) =+/ 30 (display)
=+/30



& Cube rootkey
Example: (W) 5 (0 (5) (=) (2 ()
=%/7(5+2) (display)
=%5+2

(4) Hyperbolas and Inverse Hyperbolas

Hyperbolic sine key

Example: (1) (9)

= SINH 10 (display) = sinh 10

fos Hyperbolic cosine key
Hyperbolic tangent key
(W) &5 Arc-hyperbolic sine
Arc-hyperbolic cosine
(w] = Arc-hyperbolic tangent

6 Functions Preceded by Values
These functions are referred to here as value-prefix functions (indicated by F2 in
error messages). Calculation signs are always preceded by values (e.g. 352, 10!).

(*)  Square key
(W) &7 Reciprocal key
(W) & Factorial key
Example: =6l
Sexagecimal-decimal conversion key:
Sexagecimal notation is used to enter degree, 2-digit minute, and second
values in decimal point form.
Example: (6) DM@ E @D @D E
=6.125477°" " — (display)
= 6deg. 12 min. 54.77 sec.
With (=] the result would be
=6.215213888°



7 Functions Preceded by Expressions
These functions are referred to as expression-suffix functions (indicated by F4 in
error messages) and are entered after values and expressions.
= Equal key: Displays the result.
(W) 32 Decimal-sexagesimal conversion key:
Decimal integers are treated as degrees and displayed in degrees,
minutes, and seconds.
Example: (6]() (2 () ()E) MW &
=6.2153 —°' " (display)
With (=) the result would be
= 6°12'55.08" (display).
Performing decimal operations after conversion will result in errors.

8 Coordinates Conversion Key
First specify the angle unit to be used with the key.

(W) /55 Rectangular-polar coordinate 9 TEXL N
conversion key =
X (prompting for entry
Operation: - of x coordinate)
R—P .
@ @ @ _¢— (flashing cursor)
— -
The calculator will prompt you to <I>
enter the x coordinate. >RDY D Y? )
@ Forexample, (3)(0])(=) R—P -r(promptingforentry
. . of y coordinate)
will produce the display shown in 30= LT
<11 >. The next prompting will in- o
e
dicate entry of the y coordinate. <ﬁ

Let's input

C BEE «»(>rov D

The display will change as R—P

shown in <IlI>, showing both #=39. 80557109

the argument @ and the radius R. R=39. 05124838 =

<>



P=R 5 :
(W) &8 Polar-rectangular coordinate + SEDY © B
conversion key

Operates like the &'3 key. Input
the radius R and the argument ¢
according to the promptings and

P—R
X=27. 18923361
Y=12. 67854785 -

<Iv>
the display will show both the x
andy coordinates. (<IV>)
Note: The relationship between rec- Y
tangular and polar coordinates is (x, y) rectangular coordinates

(r, 6) polar coordinates
shown at the right.

The results of coordinate conver-
sion calculations are automati-
cally sent to the printer if a printer

X
is attached.
9 Statistical Keys (Used in ST1 and ST2 Modes)
(1) Keys Common to Both ST1 and ST2

Data entry key: Inputs statistical data.
Operation: (data)
The calculation results can also be used as data.

(W) Data delete key: Deletes data already entered.
Operation: (data) ()

fw)  Statistical amount recall key 9 [(>sT1 D N:031 |
In the ST1 mode this operation X =12, 31465817
displays the mean and the popu- ox=11. 55662388
lation and sample standard devi- &(=l 1. 96224219 - |
ations. In the ST2 mode it simul- <I>
taneously shows the intercept é >8T2 D Y:010
and gradient of the regression A= 31. 09540847
line and the correlation coeffi- =-0. 3756708408
cient. (<1>, <II>) R=-0. 3050709385 -

<>
(™) 5 x Mean value key Sz/n

W) & x Sample standard deviation key /(Sz"—nz?)/(n—1) | Each statistical
(w) & x Population standard deviation key /(32— nz?)/n | amountis shown
separately
(n: no. of data)



(2) Keys Reserved for ST2

™
™ &
dy
(€3]
RR
a

W) &

of
™)

™) &
™) S
™) 5
™ b

y Mean value key Zy/n
y Sample standard deviation key /(Sy*—n5*)/(n—"1)
y Population standard deviation key /(Sy*—nj*)/n
Multiple correlation R?2
(contribution ratio) key
Sample covariance key Sxy—3a3y/n
n—
Population covariance key &‘L%E—y/l
Intercept of regression line key (Sy—BZ2)/n
Gradient of regression line key Sxy—3x3y/n
Sx2—(Sx)%/n
Correlation coefficient key n3xy—2x2y
VInZ222— (03 [n2y?— Sy
Estimate (x) key: Enter value (y) to estimate x

Operation: (Valuey) - (W) ¢
Estimate (y) key: Enter value (x) to estimate y
Operation: (Value x) (W)

Each
statistical
value is
shown
separately
(n: no. of
data pairs)

Note

functions or value-suffix functions are not.

Example: TofindeA. .. @ (=)
A is displayed, but no calculation is performed. In this case, the value should be
stored in memory prior to the calculation:

Example: (W) 4™ (@) (8) (=) . then: (@M (0)(8)(=)

General calculations using these statistical values are possible in the statistical
calculation mode, but operations using them directly as values following 2-value




10 Function Entry Ranges and Calculation Accuracy

Function Operation Range Normal Accuracy
sinx |DEG I x| =99999°
cosx |RAD Ix|1=1745.32925 +0in 10th column
tanx |GRAD IxI=111111°
sin~! IxI=1 +1in 10th column
cos™! Ixl=1 +1in 10th column
tan-1 I x| =9.999999999 x 109 =1 in 10th column
I:)ng); x>0 +1in 10th column
ex —227.9559242 = x = 230.2585092 =+1 in 10th column
10% Ix1 <100 =1 in 10th column
N x=0 =+1in 10th column
X 0 =1x1=9.999999999 x 109 #+1in 10th column
x2 Ix1 <105 =1 in 10th column
x-? 109 =1x|1=10% =1 in 10th column
n! 0 =n =69 (n: natural number) =+1 in 10th column
ax a =0, (Note: Whena =0, x =0) =+1in 10th column
Va~ a=0,x#0 =1 in 10th column
sinh x -227.9559242 = x = 230.2585092 =1 in 10th column
cosh x I x| =230.2585092 +1in 10th column
tanh x I x| =9.999999999 x 10% =1 in 10th column
sinh-1x I x1=9.999999999 x 109 +1 in 10th column
cosh-1x 1 =x=9.999999999 X 109 =1 in 10th column
tanh-1x Ixl <1 +1in 10th column
-99 99
| o 8508008808 X 107 1 m 10 caumn
R—P Ix1 <10%, |yl <10% =1 in 10th column
DEG I x| =99999
P—R [RAD Ix1=1745.32951 +1in 10th column
GRAD IxI=111111




3) Key Usage for Each Mode

Mode RDY CPM DFM ST1 ST2

Value 0-—9 (@) (@) O O (@)
(Decimal point) ©) O X (@) O

RM (@) X X (@) @)
01-03 O X X X X

M+, SM 04—-06 (@) X X (@) X
Others O X X (@) o

P—R,R—P (@) X X X X
Function (F1—F4) @) X X O ¢}
Statistical keys (common) X X X e} e)
g « | x| x| x| o
DRG (@) O O o O
CN (@) X X (@) o
INT O X X (@) X
EDIT, PRG (@) X X X X
ALPHA (@) X X X X
1,1,— — |Inputkeys O X X (@) e}
INS, DEL |Others % X X X X
PRINT 2 x x X X

D BNl sg LBonly O | LBonly O
SCPY (@) (@] O (@) (©]
NWS (@] O o (@) O
O----- Key can be used in corresponding mode.

) CERRE Key does not function in corresponding mode even if pressed.




RDY Mode
1]

4 | General Function Calculation Procedures | wm

1) Entering Expressions

1. Input expressions as they are written
Calculation expressions (including those for functional calculations) can be entered
into the F-300P in virtually the same form as in general usage. For example, the
expression:

{(4—3.6+5)x0.8—6}x4.2

would be entered as:
OCOHGAEAACEHEUXNOOEHEEOLHE®EOEE
Apart from the fact that there is no distinction between the shapes of the paren-
theses, the entry is exactly the same as the original expressions. However, calcula-
tions are not executed until the (=) key is depressed. The expression is stored in
its original form in an area of memory known as the line buffer. Since the expression
entered remains on the display (<I>), it is easy to check the type of calculation in
progress. The expression can be corrected at any time (see below). Even after you
depress the (=] key, the contents of the line buffer can be recalled and edited using

(*]) operations.

((4-3. 6+5)x0. 8-6)x4.
22
Example 1. <|>
. ¥ : o i .
Expression: 3 sin 65° = Display: SRDY D )
o 3xSIN 65=
Operation: (3) (x) &) (8) (&) (=) 2. 718923361
Result: 2.718923361 ’
Example 2. -
Expression: 1092 x log30 =  Display: (20 0™ )
Operation: (W) (&, W) G (2) (0] () 10LOG 20XLOG 30=
W@ 0EE 29. 5424251
Result: 29.5424251 e
P

Correcting the Expression

Let us assume that the 0.8 shown in Fig. <I> should have been 1.8. Use the edit

key in the bottom left hand corner to move the cursor to the 0. The O will flash.

Input the correct value 1 and press the (=) key.

Operation: (7) (=) (=) (=) **- (=) (Moveto0)
(1) (Correct value)

(=)
Refer to the section on Edit Keys (Page 14).

If the expression is long, only part of it is displayed after the (=) key is depressed.

Position the cursor

((4-3. 6+5 )x.l_. 8—-6)x4,




2. Calculation Priority

Calculation expressions input from the line buffer are executed in the following
order.

1
2.

e X NO O H W

Value-prefix functions

a*orX/~ immediately preceded by a multiplication sign (x)

Example: 2 RM01 "2 (2x?)

. Abbreviated multiplication
. Value-suffix functions
. a* (powern), X/

X, &=
+,—

In expressions which include parentheses (up to 16 levels possible), the con-

tents of the innermost pair is processed first.

The last value (or intermediate result; e.g. (3+2)) displayed before —SM or —M

is stored in the memory.

—o 1 7 affects only the preceding calculation result. Performing subsequent deci-

mal operations will cause errors.

3. Error Mattrix
Using any of the combinations marked with an X in the following table for expres-
sions will cause an error.

Example 1. Example 2.
- RMONN2-eeee ” ><+4 (
| { 2-value ) -value value
Value (2) Value(2) function Value (1) Value (2) functlon functlon Value (1)\
e AE___ S L
oK OK OK—0OK'! OK X OK x — Error
lext operation Value- Value- Expression
= Value (1) | Value (2) ( ) suffix prefix fi}\"gg‘l"; l;ufﬁx

First operation function | function function
Value (1) X X
Value (2) X X X

( X X X X

) X X X X
Value-suffix
function X X X X
Value-prefix
function X A "
2-value
function X X X
Expression X X
suffix function




Precautions To Be Taken When Using the Minus Sign, etc.
Inputting calculation expressions just as they are written is extremely convenient,
but there are occasions when calculations are not performed according to the ex-
pression. A good example of this is root calculation — the expression preceding the
root symbol must be enclosed in parentheses to clearly delineate the extent to
which the root calculation applies. The same applies when using the minus sign
(sign change) key. Look at this example:

Expression: —(6—3)+5

Operation:
(& POEERDEEE

Answer: —8 (wrong)
When a minus sign is placed before parentheses, the extent to which it applies
must always be defined by parentheses, too. In other words:

Expression: —(6—3)+5

Operation:

& VPOEEDO®EEE

Answer: 2 (correct)

2) Memory Usage

1. Specifying Memory Numbers (01 to 06)
The calculator can store six different sets of data. The memories are numbered
from 01 to 06. Be sure to specify the memory numbers with 2 digits when perform-
ing memory calculations.

Example1. (5)EM(0J(T)(Z) ---vrvvrrrerernenes Stores 5 in memory 01.
Example2. (3)My(0)(2](=]) -----vvvrvvrereens Adds 3 to memory 02.

Naturally, results from calculations completed or in progress can also be stored in
the memories.

Example 3. () HEJM@EEOGEE MIOEE)
Stores 3+8 in memory 03 and adds

the result of (3+8) X 15 to memory 04.



The procedure for recalling data from the memories is (memory number) (=] .
Use this function to confirm that the values in the previous examples are correctly
stored in the memories. An important point to remember is that with (5M and it
is the values entered immediately before these keys are depressed that are stored
or.added:

Example4. B)HEIM )] (=) Result = 8 (5 stored in memory 01)
Example 5. ((J(3)(#) (8)(0) 6™ (0] (2) (=) Result = 8 (8 stored in memory 02)

Example6. () (DEIHEJEM (JE](E]

Result = —8 (8 stored in memory 03)
Example7. (D@ (OEHEHE OO (@@=

Result = —8 (—8 stored in memory 04)
When storing intermediate calculation results, be sure to specify the range of input
by using parentheses, taking particular care when using the minus sign.

2. Expansion to 48 Memories

For calculations which cannot be executed é SDFM D

with 6 memories, it is possible to expand PRG:336 *R:336

the number up to 48. This operation is car- MEM: 06

ried out in the DFM mode ( (=) (3] ). When MEM SI1ZE 2_

the calculator is in this mode, the display is <|:
as shown in <I>.

When the F-300P displays the prompting * SDFM D )
for the number of memories, enter a 2-digit PRG:224 *R:224
number between 06 and 48 (e.g. (2] (0] ). MEM: 20

The display will appear as shown in <II> MEM SIZE ?7_ ]
to indicate that setting is complete. After re- Ty

turning to the RDY mode ( () (1] ), it will
be possible to use 20 memories.
Note: Extended memories use the same memory area as the program function.

Using more memories reduces the program area. For detailed information,
see page 38.



3) Examples

Depress (1) to set the RDY mode.

1. General Calculations

L Expression Operation Display J
(1)Addition
>RDY D
8+3+5.5=16.5 835 53 b
16. 5
(2)Subtraction
>RDY D
3-5=-2 sEeE gy
-2
(3Multiplication
>RDY D
3.6%1.7=6.12 3.6(x)1.7(=) 3. 6x1. 7=
6.12
(4)Division
>RDY D
592+4.8 592()4.8(=) 592+4. 8=
=123.3333333 123. 3333333
(5)Mixed calculations
>RDY D
3.246.4%X2.8+5.1 ?5'26'4@2'8@5'1 3. 2+6. 4x2. 8+5. 1=
=6.71372549 6. 71372549
(B)Calculations with signs
>RDY D
—6.5%20.2 (=96.5(x]20.2(=) -6. 5x20. 2=
=—131.3 -131.3
(7)JExponential calculations
>RDY D
(1.23%X10%)x(4.56 ggﬂgd'% 1. 23E23x4. 56E-44=
X107*)=5.6088x10-2! 5. 6088E-21
(8)Parentheses calculation
>RDY D
[(4—3.6+5)Xx8—6l g?é?c?]ig ((4-3. 6+5)x8-6) x4, 2
X4.2=156.24 ' =156. 24




2. Basic Function Calculations

I Expression | Operation Display
(1) Trigonometric functions
>RDY D
sinh3° [prg—D SIN 53=
=0.7966355101 (sin)53(=) 0. 7986355101
7 RAD >RDY R
P56 e —R COS (7+6)=
=0.8660254038 e (O™ g (£)60) 0. 8660254038
(=
p— -G >RDY
- TAN 65=
=1.631851687 (tan65(=) 1. 631851687
(@)Inverse trigonometric functions
>RDY D
sin~10.3 prd—D SIN' . 3=
=17.45760312° W) & (3E) 17. 45760312
cos1(0.8 brd—R zgzy . :=
gl ) & (8= 0. 6435011088
>RDY
tan~! 1 =506RA° :.G TAN"' 1=
® &1 o
(3)Exponential functions
>RDY D
©22=3584912846 (e922(=) e22=
3584912846.
>RDY D
10%3=199.5262315 W) &52.3(=) 102. 3=

199. 56262315
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(4)Logarithmic functions

=2.549509757

>RDY D
In123 (n)123(=) LN 123=
=4.812184355 4. 812184355
>RDY D
109213%89905”2 o) 5123(=) LOG: T2a
2. 089905112
(5)Square and cube roots
>RDY D
V/30=5.477225575 30 J/ 30=
5. 477225575
E— >RDY D
ik V) M4.8:1.703) J (4.8+1.7)=

2. 549509757

>RDY D
3/16 =2.5198421 W) &516(=) 3/ 16=
2. 5198421
([6)Squares and reciprocals
>RDY D
1.33?=1.7689 1.33(=) (=) 1. 33=
1. 7689
’ >RDY D
793 =8-130081301 X107 | 1239 &, 3 123"'=

8. 130081301E-03

(7) Power calculation and multiple roots

=b.765453699

>RDY D
5.43%2 5.43(93.2(=) 5. 43~3. 2=
=224 .5739897 224. 5739897
>RDY D
2.8 /
1 2.8(w) 35135(=) 2.8/ 135=

5. 765453699




(8/Hyperbolic function

=(.8425793257

>RDY D
sinh1 .23 e (Ein)1.23(=) SINH 1.23=
=.564468479 1. 564468479
—_— >RDY D
OSH =
—o q70a71axge | B ES3E] S
2.917308713E14
>RDY D
tanh
il 23 () (tan)1.23(=) TANH 1. 23=

0. 8425793257

(©Inverse hyperbolic functions

sinh=11 .5X10%
=h8.66323961

W) (v9) &1 5ER25(=)

>RDY D
SINH'1. 5E25=
58. 66323961

Decimal-sexagesimal
conversion

123°4506.78°
—123.7518833"

123.4506786=) (=)

cosh™.5 = >RDY D
—~0.9624236501 () v &1.5C) cosH 1. 5=
0.9624236501
tanh=10.4 i >RDY D
—0.4236489302 ) &9 g (= )4(=) TANH-'. 4=
0. 4236489302
(10)Factorials
>RDY D
10 | =3628800 10 & (=) 101=
3628800.
(11Sexagesimal-decimal conversion
>RDY D

123. 450678 "'—=
123.7518833

2.3456°
—2°2044 .16

2.3456(w) g

>RDY D
2. 3456—~"=
2° 20 44.1¢




(12 Rectangular-polar coordinate conversion

xy)

x=1.732050808
y=1

1) prg—D >RDY D R?

2) (w5 P-R

323 >RDY D 67
P—R
2=

4 0= >RDY D
P-R

X=1. 732050808
Y=1.

(13 Polar-rectangular coordinate conversion

<

. V3

=2
6=060°

1) brg—D >RDY D X?
2) W5 R-P
316 SRDY D Y?
R—P
1=
4 BD3E= SRDY D
R-P
4 = 60.
R=2.

® Coordinate conversion calculation results are automatically printed when a printer

is attached.



3. Combined Calculations

|7 Expression I Operation Display
(1)Logarithmic mean
. >RDY D
= |n3—1§8 04E80E MO0 (4-8)+ (LN 4-LN 8)=
=5.770780164 43)m8MIE)

5. 770780164

(2)Geometric mean

G=3v/71.23X1.48%1.5
=1.397717369

3 & or (W) &)
(01.23(x)1.48)1.5
(=)

>RDY D
3*V/(1.23x1.48x1.5)=
1. 397717369

(3) Trigonometric functions for angles using minutes and seconds

c0s76°54'32.1"
=0.2264997296

e976.543216%) (=)

>RDY D
COS 76. 543217~ =
0. 2264997296

(@4)Permutation, combination

5| 5@ L@MEE3 | v L
P=m—7 0 | OW& - '
60.
& 5mWSHHO3M | >RoY D
Cr=73xe—3y =10| DO5E30MWD | 51+(31x(5-3)1)=
0o 10.
(5)The probability that 3 out of 4 times, a coin when tossed, will land heads up.
1 4w SHHO3WE | >RDY D
CaxX(2)*=0.25 FHO4E30ME |41+(31x(4-3) 1 )x27~4=
DE2MW) & (=4 (=) 0. 25




9 | Programmed Calculation Procedures ®®

The functions of the F-300P include the storage of algebraic expressions in the
memory and the execution of calculations in which values are entered into variables.
First, some examples.

1) Entering Algebraic Expressions into the Memory
1 Example: Calculate the area of a triangle

using Heron's equation. The area (S) of the

triangle shown at right can be expressed as:

S=/s(s—a)(s—b)(5—C) S:L;'C

This is Heron’s equation. Elements a, b, c,

and s in the equation cannot be entered

into the calculator as they are. With the S
F-300P, memories 01 to 06 are used for

variables like these. Instead of the variables

a, b, c, and s, use 01, 02, etc. By e c

pressing the (sm) or key during the cal-

culation, it is possible to automatically

assign intermediate results to the variables.

The actual procedures are as follows.

Since s is the value that will be calculated, this variable will be used frequently. We
will assign it to memory 04.

s = (™M) 01+(r™) 02+(rm) 03) = 2) (5M) 04

( 01— 03 correspond to a, b and c in the above equation respectively.)
Assemble the expression using this function. To calculate area S:

S=V((EM01+EM02+EM 03+ 2) EM 04X ([EM) 04— @M 01) x (@M 04— w02

s sis storedin s—a s—b
memory 04

X ((rm) 04— (am) 03))
i E—

§=C

Let's use this in an actual calculation. First é SRDY D
press (1) (program no. 1) in the RDY
mode (see <I|>). Enter the expression v ( ( (RMO1+RMO2+RMO03) +
above as it is written. The number shown in
the upper right-hand corner of the display
increases by one each time a key is

EDIT 1:032

2)—~SM04x (RMOS-RMO1)_
<>

pressed. This figure indicates the number
of steps making up the program. The final
(=) key can be omitted.



Pressing starts execution. The prompt- SRDY D
ing “RM01?” will appear as shown in <II>.
Let's enter (&) (=) for variable a. Respond RMO1?
to “RM027?” and “RMO03” in the same way
by entering 4 (=) and 3 (=] . Next the

<>
rompting “RM047?" will appear. Since
L , ppear. Since oy b )
values stored during programming will be
used for this, we simply press the (=] key. -~ 6.
The result will be displayed as shown in
<Ill>. To run the program again, enter —
@ <>

2 Program Auto Repeat
Calculation expressions stored in this way can be accessed any time by simply
entering the program number. When using the same expressions to process large
amounts of data, however, it is inconvenient to run the program repeatedly by enter-
ing (1) . The F-300P features an auto repeat function to solve this problem.

(1) Enter the number of repetitions
Memory 06 functions as the F-300P’s ( STAR )

counter during program calculations. Each

time the program is completed, the value in
memory 06 is decreased by 1. The program
repeats until this value is O or less (see the
diagram at the right).

If S will be calculated using Heron's equa-
tion with 10 sets of data, we first store the y
value 10 to memory 06. Display of results

(& MO®E0EE
Then execute by pressing (1) .Each

Entry/display of variables

Calculation

(RM06—1)—RMO06

time a calculation is completed the display (automatic)
will revert from <Ill> to <II> and the
prompting for data input will be displayed. NO

RM06=0

After 10 repetitions, the operation will end.

YES

Program Flow



(2) Using the counter memory as a variable
Although memory 06 has a special counter
function, it can also be used like the other
memories as a variable for an algebraic ex-
pression. The simplest example of this é
would be:

(& (=@)

(M (0] (6] (W) &5 (=) RMO6 ! = —

( ) (Factorial calculation program)
The calculator will first display the prompting “RM067?”. If we enter 10, for example,
and then simply press the = key repeatedly, the results are displayed in succession
(101,91, 8!.....11). In addition to functioning as a counter, the value in RM06 can also be
used in a calculation expression.

>RDY D EDIT 2:005

Key Operations during Program Repetitions

Promptings (e.g. “RM037?") are displayed to tell you to input values for the varia-
bles (memories). To input a new value, enter (new value) (=) . To use the value al-
ready in the memory, simply depress(=]. To stop a repeating program, depress(c].

To stop program execution, depress the (€] key. If the mode is changed to EDIT
during program execution without depressing the (c) key, the key may not func-
tion. When this happens, depress the (€] key and then change the mode to EDIT.

2) Programmed Calculation Functions

1 Programmed Calculation Procedures
In the preceding pages you have seen some actual examples of programmed calcu-
lations. We will now examine the procedures and functions involved in greater
detail. Programmed calculations are executed in the RDY mode ( ).

(1) Program Entry (EDIT sub-mode) é
After depressing the key, enter a
number between (1] and (<1>).
Since the F-300P can store up to 7 alge-

[>RDY D EDIT 1:000

braic expressions, each must be assigned — —
a number in the same way as the memories. BRDY D EDIT 1:010
Enter the calculation expression in exactly

the same way as for general calculations

(=) /(3% +RM05)= — J

<>



® The counter is displayed in the upper right-hand corner of the display to indicate
the number of steps in the program. One key operation is equivalent to one step.
(Keys like (w) are not included.) All the memories combined can hold calculation
programs with a maximum of 336 steps. A single program of 336 steps is also possi-
ble, so long calculation expressions that would cause the line buffer to overflow in
the general calculation mode can be executed using the program memories.

e Memories 01 to 06 can be used as variables. When they are used in programs, the
calculator will display promptings like “RMO17?” each time the program is executed,
so that you can input values for the variables. Memory 06 also functions as a repeti-
tion counter.

e The memory area used for storing programs is independent of the line buffer.
However, the line buffer is cleared when values are input during the execution of
programs using memories 01 —06.

(2) Program Editing (EDIT Sub-Mode)

Programs stored in the memory can be edited >RDY D EDIT 1:010
at any time except during execution.
Access the program you want to edit by SHisikding
i . : V(3 +RM05 )=
entering ) — . This procedure is =
not required when editing programs cur- (=)E)E)E)(E) - Move the cursor
rently being entered.
Move the cursor using the edit keys ((1)
.-) >RDY D EDIT 1:011

(=) (=) ) to add, delete, and correct values,
etc. <Ill> shows the procedures for insert-

Number of steps increased

ing a minus sign into the expression shown L
i i /(3*+_RMO5 )=
in <IlI> on previous page.

(W) ‘%5 : Create a space for the insertion.
e When an edited program is accessed, the

contents are scrolled up a line at a time on

the display. To stop the scrolling, press the é SRDY D EDIT 1:011
key. Please note that since the step

number display also stops simultaneously,

it does not necessarily indicate the total /(3 +_RM05 )=

number of steps taken up by the program.
Moreover, additions or deletions to the pro-
gram will increase or reduce the number of
steps accordingly.

() :Inserta minus sign. <im>
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(3)Program Execution (PRG Sub-Mode)
For programs already stored, press (g fol-

lowed by the number of the program ( (1) 4 SRDY D
A program being entered or edited (EDIT

<IV>

Sub-Mode) can be executed simply by

pressing . During execution, the letters*

PRG are displayed on the message line

(<Iv>).

When the printer is in use, the values input into variables RMO1 to RM06 and the re-
sults of the programmed calculation will be automatically printed out. This is very
useful for subsequent studies of the results.

Entering Alphabetic Characters
Comments consisting of alphabetic characters can be inserted into programs to
make data input and results more readily understood. With the Heron’s equation
program on page 33, for example, inserting the following characters results in the
display shownin <V>.

V(g $O OO D ED iy >RDY D

(BM) 01+ woooee SIDE A RMO1?
It is clear at a glance that the item current-
ly being entered is side A.
Inserting the following characters after <V>
the (=) sign scrolls the answer down one

line on the display as shownin <VI>.
PP PR

>RDY D
1‘—specifies new line AREA

=% 2. 90473751

<VI>
When using numbers, parentheses and mathematical symbols in messages, use

the (W) key in the Alphabet Mode. Numbers and symbols entered in this way do
not affect the calculations.

Example: Entering [ % (wv) (=) (W) (3) (W) (o) (W) (o) &
displays the word F-300P.




2 Clearing Programs and Memories SCPM D
Programs and memories are cleared in the 1:078 2:011 3:005
CPM mode ( (=) (2] ). In this mode the dis- 4:011 5:011 6:000
play contains the following information: 7:000 R:220 mt
<I>

Numbers 1—7 : The number of steps in each program

R : The number of program steps still available for use
Input the number of the program you want to clear () — (@)). To clear the con-
tents of the entire memory, press (=) (the decimal point). Pressing (4] when the
display is as shown in <I>, produces display <II>, confirming that the specified

memory has been cleared.
>CPM D
1:078 2:011 3:005

Note:To clear individual memories, (e.g. 4:000 5:011 6:000

memory 01), press the following keys 7:000 R:231 —

inthe RDY mode: Changesto zeros Increases by the <i>

number of steps
(é ’ @ @] @ @ [E] in the cleared program

Memory Expansion
It is possible to increase the number of memories used during programmed calcula-
tions. However, extended memories numbered higher than 07 cannot be used as
variables. Instead, they function as constants, usually on the basis of values en-
tered beforehand.
Examples: Entering a value into a variable
When the prompting “RM017?” is displayed, it is possible to enter the
contents of memory 08 into the variable by pressing (™ (0] (8]. The
value in memory 08 is then stored in memory 01.
Using the contents of amemory as a constant in an expression
In the Heron’s equation on page 33, a value was specified for memory
04 in the expression and no other input was necessary. Instead of
memory 04, memory 07 or 08, etc. can be used in the program.



DD

Memory expansion is carried out in the DFM Mode ( (3) ).

See <l >.
The contents of the display are as follows: 9
PRG: Number of steps in the program

area

*R : Number of steps available for use
in programs

MEM:  Number of memories

K

If you intend to use 10 memories, enter (1)
(o) to produce the display shown in <IV>.
The program area is reduced in direct pro-
portion to the increase in the number of
memories, since memories and programs

[>SDFM D
PRG
MEM:
MEM

336 *R:220
06
SIZE 7 J

<>

F>DFM D
PRG
MEM:
MEM

N

1304 *R:188
10
SIZE 7 J

share the same memory area. This relation-

Line buffer
(83 steps)

ship is shown in the diagram on the right.
For each extra memory, the program area is

Fixed memories
(6)

reduced by 8 steps. Using too many memo-

Memory area

ries may leave insufficient area for storing

Extra memories
(0—42)

programs.

Program
(0—336 steps)

<IV>
—Fixed area

—1— Variable area

| _Limitdefinedin
| DFMmode

1 memory = 8 steps

Functions That Cannot Be Used during Programming
Almost all the functions of the F-300P can be used for programmed calculations.

However, the following keys may not be used.
(1)Coordinate conversion keys (R—P, P—R)

(2) Statistical keys

The following are not valid in the EDIT sub-mode.
(1)Clear key

(2)CN key

(3)Print key (The screen copy function can be used — (w)

SCPY )



3) Applied Examples

Set out below are some examples of program applications.

Financial: Loan Calculations

Calculate equal monthly payments (PMT) on a loan of PV dollars over N years at an
annual interest rate of 1%.

Calculation expression:

PMT=PV X

i
1—(14i)"
where

|
i= (interest per month)
12x100

n=N x 12 (number of months)

Preparation of variables and memory:

Principal PV| RMO1 | fu (2D (D (6 €2 CD (D @D ) fur (aM) 01
Annual Interest | | | RMO2 | [ (30 (8 (O CH @D O DO
) (0 Q) 02
Period N | RMO3 | [ £ G2 (D (3 50 G fund (i) 03
Key operations:

@ (3] (Could be any number between 1—7)
furg £ (D (D (B & (B (5 €D (0 i (7w 01 () (1)
®EO® DD W) () P () () & (W 02 (3] 12
00FHM 1 B 1 FEEM02 (=) 1200 () (@) (O fn 7= 2
CD(:"D@.E].OMB 12MO0)E) m TP 5 W) (D
(763teps)



Execution:

When the principal: $10,000, annual interest rate: 9%, payment over 10 years.

Step Display (before entry) Key operation Display (after entry)
1 W) &I)
. 9 (@)
4 INTEREST(Y) RM02? 9 (=) 9
5 | PERIOD RM03? 103 10
6 MO. PMT.
— 126. (Result)

® Set the integer sub-mode before program execution.

To do the same calculation with an interest rate of 11%, press (3] again. Since
the principal and the period remain the same, simply press (=) for steps 3 and 5. At
step 4, when the prompting “INTEREST (Y) RM02?" appears, change the rate by
entering 11 (=] . The result at step 6 will change to 137, indicating the monthly pay-
ments required with an annual interest rate of 11%.

Electrical

Calculate the Vc of the circuit on the right

after t time has elapsed.
Calculation expression:

t
Vo=V (1—e"RC)

Preparation of variables and memory

i(t)

Power source voltage
Time

Resistance
Condensor

Vi (V)
t (ms=10-3s)
R(Q)
C (uF=10-%F)

RMO1

RMO02
RMO03
RMO04

Key operations:

@ =

f G2 (2 ) (m) 01 () (0 1 (5) (&) () (0 s 7 5 (o) 02 (%) () (& ()
3 (3] (O b 2 ) [w) 03 (x) furd 9 ) (o) 04 (%) (W) e (2) 6 (1) (1) (1)

furg G0 € €0
(41 steps)



Execution:
When Vi=100V, t=56ms, R=1.5k}, C=50uF

. . Display
Step Display (before entry) Key operation
(after entry)
1 b (&)
2 VI RMO017? 100 (=) 100
3 T RM02? 56 (=) 56
4 R RMO03? 1.5 (exf 3 1.5E3
5 | C RM04? 50 (=) 50
6 VC:
— 52.60562649 (Result)

Scientific
Calculate the pH of a liquid with a hydrogen ion density of H (moles/liter).
Calculation expression:

1
pH=log H

Preparation of variables and memory:
H (moles/liter): RMO1
Key operations:
()
(W) (52, s CB0 o) (am) 01 (W) & furd) &5 GB @O (9 steps)
Execution:
With a hydrogen ion density of 4.3 X 10-* moles!/liter, the pH will be:

Step Display (before entry) Key operations il
(after entry)
(®)
2 | HRMO01? 43 @ 4 (=) 43E—4
3 PH:
— 3.366531545 (Result)




6 |Procedures For Statistical Calculations @

1) One-Variable Statistical Mode (ST-1)- (= (a)

1 Data Entry, Calculation
Example: Calculate various statistical
values from the table on the right. Key oper-
ations are as follows:
(1)Single data:
@ 36
38 fuM
Press the key after entering each
data item. After 38 has been entered,
the display will be as shown in <I>.
(2)Multiple occurrences of the same data:
40 (x) 5 6M
42 (x] 4 pw
To multiply the data by the number of oc-
currences, press (data) (X] (frequency)
. The display will be as shown in
<II>.ltis also possible to enter:
(& 42 b (2) 6w (=) 6 (=)
Subsequent data are entered in the
same way (45 X 8 fum) -+ 50w ).
If an optional printer is attached, the
data will be printed out as it is entered.
(3)Calculating statistical quantities:
(& ™
The mean (x), population standard devia-
tion (ox) and sample standard deviation
(Sx) are automatically calculated and
displayed as shown in <IlI>. The follow-
ing keys are used to display individual
amounts:

@ W) & X Mean value

12 3 456 7 8

Class 36 38 40 42 45 47 49 50

Frequency 115 4 8 2 3 1

K

K

\
>STI1 D N:002
Item counter
38 No. of data —-I
. 38. iterns entered
L Data entry J
| —
<>
3\
[>sT1 D N:OTT

— 42 -——Data

— X 4, =-—~Occurrences

(W) & x Population standard deviation

& xSample standard deviation

= J

<>

é >ST1 D N:025

x = 43.72
ocx= 3. 638900933
Sx= 3. 713937713

<>



The basic statistical values are stored in memories 01 —03. These can be ac-
cessed but not altered using 5M or (M4 .
@ 01 Number of data items n
02 Sumofdata Ix
03 Square sum of data Zx?
(4)Adding new data
New data can be entered after the above operations have been carried out.
(5) Deleting or correcting data .
Corrections during entry (before is pressed)
Use the edit keys.
Corrections after entry
Delete using (W) and enter the new data.
Example 1: 48 (W] Deletes 1 data item of value 48.
Example 2: 53 (X] 2 () Deletes 2 data items of value 53.
Make sure that the item counter on the display reflects the deletion. When a
printer is being used, an asterisk is printed in front of the data item to indicate
that it has been deleted.
(6)Clearing the ST1 Mode
To execute a new total, press (g (4] . All previous statistical values will be
cleared. The calculator cannot be cleared using the (c] key.
Calculations in the ST1 Mode
With the exception of the following functions, operations can be carried out in this
mode in exactly the same way as in the RDY mode.
e Coordinate conversions (R—P, P—R)
® Programmed calculations
e Calculations which involve storing values in memories 01 —03. (The F-300P
uses these memories exclusively for statistical calculations.)
The results of calculations can be used as statistical data and statistical values can
be used in other calculations.
(1)Using calculated values as statistical 9 SIN 45x3=
data
Example: Enter sin 45X 3
) 45 () 3 () ~  2.121320344
(Display IV) <IV>

The value that will be entered is always obtained using the (=) key. If the
key is pressed instead of the (=) key, the F-300P may not function correctly.
(This is because (X is used as a data counter in the ST1 mode.)

2. 121320344
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(2) Using statistical values in calculations
Example: Use the data in the preceding section to calculate the unbiased vari-
ance (unbiased variance = (Sx)2).

Following data entry: é >ST1 D N:025
W) & (calls Sx) Sx=3. 713937713
) (Display <V>) 3. 713937713E 00°

(=) (Result = 13.79333334)

<V>
Remember that general calculations of this type are not printed automatically. To

print, use [ (=) | etc.

2) Two-Variable Statistical Mode (ST2)- ) (5)

1 Data Entry, Calculations
Example: Calculate the gradient and inter-

112|3(4|5(6|7)| 8
Xi(1.6/1.8|2.5/|3.3/3.7(4.1(4.9| 5.1
yi|3.2|/4.0/4.8/4.9/7.5(7.8|9.7[11.5

cept of the regression line and the correla-
tion coefficient of the data shown in the

table at right.
(1)Enter data x,
The initial display is as shown in <I>. QPSTZ D X:000)
@ _1.6 @ ) data to be input
The display changes as shown in <II> datax counter
and a prompting appears for the input of _ J
they data. — ey
(2)Enter datay, égST2 = Y:000)
@ O 1. 6
The calculator will display a prompting X 1.6
for the input of another x data. (<11>)
Enter the data in succession — — )
1.8 b 11,5 M as before. 1>
® The (data) x (frequency) format é(>ST2 D %-001
in the ST1 mode cannot be used. For 3.2 S?é?&‘y’?ﬁj
example, the result of 45 (x) 8 Y 3.2
would be treated as a single data item — J

(answer: 360). <>



(3)Calculate the statistical quantity

@

The intercept A, gradient B, and correla-
tion coefficient R of the regression line
(y=A+Bx) will be displayed simultane-
ously (<IV>). Other statistical quanti-
ties can be obtained by the following key
operations.

W) 35 , (W) 5 Mean values for

xandy
W) & (W) & Sample standard
deviation for xand y
W % . (W) & Population standard
deviation for xand y

é >ST2

D X:008
A =-0. 4867855695
B = 2. 122010539
R = 0. 959949759
<IV>

W) &Y Multiple correlation

w9

SZxy
cz) Sample covariance

a?xy . .
(W) &35 Population covariance

A, B, and R values can also be obtained for each (W) g , (W] 5 , (W] ¢ . In
this mode, basic statistical values are stored in memories 01 —06.

This mode offers estimation functions
for linear regression lines obtained
through totaling.

Example: Estimate y from the example in
the preceding section when x=6.2.

(& 62 ™

The result is displayed as shown in
<V>. (The same procedure is used
when estimating x from the value of y.)
When the printer is used, the value of x
(or y) and the estimated value are printed
out automatically.

The basic statistical values are stored in
memories 01 —06.

01 Number of data (Xi, Yi = 1 pair)
02 Sum of x data Ix
03 Square sum of x data Zx?

') >ST2

6. 2

A

Y

D X:008

12. 66967977

<V>

04 Sumofydata Ty
05 Square sum of y data Xy?
06 Sum of product of x,y data Ixy
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(4)Deleting or correcting data

Corrections during input (before depressing )
Use the edit keys.
Corrections after input:
To delete x data immediately after input: «w (Reinputof X data is not needed)
To delete y data after input: (x data) & . (y data) (wy)
(Always delete data in x, y pairs.)

Next enter the correct data. Deleted data are displayed with * .

(5)Clearing in the ST2 Mode

The procedure is the same as for ST1. Enter (5] again. The calculator cannot
be cleared with (c] .

Calculations in the ST2 Mode

As in the ST1 mode, it is possible to carry out general calculations. However, memo-
ries 01 through 06 are used exclusively by the calculator. For memory calculations,
first set up extended memories in the DFM mode. (Refer to the note on page 20.)
Combinations with general calculations permit applied statistical calculations such
as those shown on page 48.

3) Other Statistical Calculation Functions

1

Input Ranges and Calculation Precision

The precision of calculations in the ST1 and ST2 modes is determined by the RDY

mode. However, since square calculations are carried out internally, the range of

inputdatais: —1 X 105°<input data <1 x 1050

(1)When there are data with many digits:
Calculating the data as it is may cause a cumulative calculation error. Greater
accuracy can be obtained if appropriate steps (e.g. taking a dummy average) are
carried out beforehand.

(2)When errors occur:
Either use (] to call up the line buffer and correct the erroneous data or
clear the data by pressing () . Data entered prior to the error are not affected
and the calculation can be continued without reinput.



2 Clearing the Statistical Calculation Formula Memory ST1lsT2

(1)When shifting from another mode into the ST1 or ST2 |RNM01

=¥

mode automatically clears memories 01 through 03 |RM02| Xx
(ST1) and 01 through 06 (ST2). RM03| xx2

x

X}

x
®

(2)When shifting from ST1 or ST2 into another mode, the |R\04

~

contents of all memories are retained, allowing calcula- |RN\05H

<

(4] [0 1
<

x
L

tions using basic statistics. RMO06

3 Calculation of Exponential Regression, Logarithmic Regression, and Power
Regression
This calculator performs linear regression calculations for two variables in the ST2
mode. This allows the extent of the proportional relationship between two variables
to be found. Depending on the data, it might be that while there is no simple propor-
tional relationship, there is an proportional relationship when taking the logarithms
of data (see figures at right).

The ST2 mode can be applied to regression 5

calculations like these. LY o S

Taking exponential regression as an exam- A | <

ple, the formula for a regression curve is: //. Straight line Exponential
y = aebx.

Taking the logarithms of both sides, we get: e
Iny = Ina + bx. //

If Iny = Y and Ina = A, then the formula for -

the regression line is: Sauare iagnrinipiic
Y =A + bx.

If the data pair x and Iny are input and cal-

culated in the ST2 mode, it is possible to x| 123 231 351 ...

derive A = Ina, b, and the formula’s correla- y | 523 492 617 ..

tion coefficient r.
For example, using the data at right, the
procedure is:

1.23 , (In) 523

2.31 , [In] 492 fsuM)

Depressing the key causes A, b, and r to be calculated, allowing a to be found
using the formula:
A =Ina(a=eA)
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A is stored temporarily in the memory by using the operation (W] 5 (M 07 (=) |,
which is followed by the operation 07 (=] . (Itis not possible to obtain the
result directly using ™y )
Calculations of the estimate values are as follows:
® Estimate the valueyjfromxi:  Obtain ¥ by inputting xi.
Calculate yj using yj = e Vi.
(In this case, Yi must be stored in the memory
temporarily.)
® Estimate the value xj from yj: Obtain Xxj by inputting Inyi.
Other regression calculations are performed in the same way (see table below). The
question of which data is closest to which form of regression analysis is determined
by comparing the correlation coefficients obtained in each case.
However, since these are all quantitative evaluations, it is advisable to take qualita-
tive factors into consideration, too, when performing actual regression analysis.

Regression |Regression Model Input data albl ¢ Calculation of
type formula formulas pairs estimated value
. ol Input Xi—yi
Line y=a-+bx - (x,y) alb|r IpGtyi—5
Exponen- | _p |Iny=Ina+bx A Inputxi—'eVAi
tial y=aedX I\ Aypx | X Iny) |eAlb)r Input Inyi—xi
Logarith- | y=a+blnx Input Inxi—-'i’_i
mic ye=a-HRinX y =a+ bx (inx,y) | ab)r Input yi—eXI
Iny=Ina i—eVi
Power y=axP | +blnx (Inx, Iny) |eAlb| r Irnpul}tl|r:,);li:ii
Y =A + bX P




T | Appendix

1) Value Stacks and Operator Stacks

The F-300P is capable of executing calculations in response to key operations
specified in expressions which may include values, parentheses, and functions.
For this reason, a temporary storage area is necessary to hold values and operators
that have low priority in expressions. Storage areas of this type are called stacks.
The F-300P has value and operator stacks, the functions of which are given in the
following table.
Example: Calculate 18 —6 +(cos60+ 3 +2)2= (Specified angle = D)
When the (=) key is pressed this expression is recalled from the line buffer and the
calculation proceeds as shown below.

o b * ¥ Cgfrl(t;?_ts Value stack Operator stack
culation Lelve' Le%/el Legel Le:el Les\'lel ...... Le;lel Le;el Leé/el Le‘;lel Lesvel ......
1| 18 18 (LB)
gl = 18 | 18 -
3 6 6 (LB) 18 -
4 + 6 6 (18 + | -
5 ( 6 6 (18 (|+]-=
6| cos 6 | 6 (18 cos| ( |+ |—
7| 60 60 (LB) 6 |18 cos| ( |+ |—
8 + 0.5 cos60° | 6 |18 + | (|+]|-
9 3 (LB) |0.5|6 |18 + | (|=]|-=
10| =+ 3 | |os|6 |18 + |+ C|+]=-
11 2 2 (LB) 3 |05|/6 |18 =+ | (|=]=
12 ) 1.5 3+2 |05/6 |18 + | (]|+|-
13 2 05+15| 6 (18 + | =
14 2 4 2?2 6 |18 + | =
15| = 1.5 4+6 |18 —
16 165 |18—1.5
17 (Dis- | (END)
play)

* X:Xregister — a storage area for calculation expressions.
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The F-300P has 8 levels of value stacks and 16 levels of operator registers. In
parentheses calculations, for example, this means that up to 16 pairs of paren-
theses can be entered provided that the number of levels in the value stack
doesn’t excede 8.

2) Error Messages

1 Display and Processing of Errors é SRDY D 2MEM
The F-300P responds to illogical operations Error messaée

and other tasks which cannot be processed
internally by displaying error messages. All
subsequent calculations are halted. The
display appears as shown below.
Errors like these are handled as follows:
1) General and statistical calculations
(1)Clear the memory by pressing the key and reenter the expression.
or
(2)Display the contents of the line buffer (the calculation expression which
caused the error) using (+]. Use the edit keys to correct the expres-
sion
And then continue the calculation.
2) Programmed calculations
® Use - to display the program which contains the error. Use
the edit key to correct the program and then execute it again using :

= Blinking
P

The explanations of the various error messages are given on the following pages.



2 Syntax Errors
Errors relating to the way the calculation formula is written.

Display Content and Cause Examples and Possible Solution
?28Y— (—) (sign key) syntax error 1-5 Change to a subtraction
sign.
?SYN1 Syntax error relating tovalue (1) | #3 Inserta multiplication sign.
(0-9,.)
?SYN2 Syntax error relating tovalue (2) | (5+1)# Inserta multiplication
(7, RM) sign.
(abbreviated multiplication is only
permitted with <value (1) or
2>x<value (2) >)
?28Y( ) Syntax error relating to (9+3(= Changetoaclose
parentheses parenthesis.
?SYF1 Syntax error relating to F1 2SIN30 Inserta multiplication
(value-suffix functions) sign before (sin] .
?SYF2 Syntax error relating to F2 SIN230 Change to (SIN 30)2
(value-prefix functions)
?SYF3 Syntax error relating to F3 2 X +1 Remove one of the signs
(2-value functions) orinsert a value between
signs.
?7SYF4 Syntax error relating to =, SM 3+SM01 Remove the + sign or
and M+ insertavalue in front
of it




3 Errors Relating to Formula Operations
These errors most commonly occur when the calculator is asked to calculate with
values other than those defined in the formula. Be careful when using combined
functions.

Display Contents and Cause

?SCT Errors relating to trigonometrical, hyperbolic, inverse trigonometric,
and inverse hyperbolic functions

1) SIN, COS, TAN outside input ranges

2) xvalues entered for SIN-1, COS-! result in IxI> 1

3) When the x value entered for SINH results in x< —227.9559242
4) When the x value entered for COSH-! results in x< 1

5) When the x value entered for TANH-! results in IxI > 1

N Errorsrelatingto/~ when+/x is attempted for x <0

VAT Definition range errors relatingtoaXand X/
1) aXwhena=0and x<0

2) aXorX/awhena<0

3) X/a when x=0

?R When the radius value R entered for P—R conversion is negative.

iolgy When an attempt is made to execute a decimal operation after
sexagesimal conversion

?LN Definition error relating to LN, i.e., when the x value entered for Inx
results in x=0

?LG Definition error relating to LOG i.e. when the x value entered for logx
results in x=0

2?1 Definition errors relating to n!

1) n<Oorn>69
2) nis nota natural number

?+0 x=+0
Less than two pairs of input data in ST2 mode
?0VF Results or intermediate results out of the calculation range

1) When the exponent =100

2) eXwhen x>230.2585093

3) aXorX/a when the exponent =100

4) When TAN g results in co

5) When SINH and COSH exceed input ranges

6) Statistical input with an exponent =50 (squares executed
internally)

710 10X When the input value is IxI=100




4 Other Errors
Listed below are errors relating to stack utilization and printer operation.

Display Contents and Cause

?STK Overflow in the value or operator stack. Causes include an excessive
number of parentheses in parentheses calculations. For information
on stacks, refer to page 50.

?MEM Errors relating to the memory. Possible causes include failure to
specify a memory number with RM, SM, M+ or the specification of
a non-usable memory.

1) Specify a memory using a 2-digit value between 01 and 48.

2) Memories 07 through 48 can only be used after the number of
memories has been expanded in the DFM mode.

3) In the statistical modes, memories 01 through 03 (ST1) and 04
through 06 (ST2) are used for internal calculations. These
memories can be used with RM but cannot be used with
SMor M+ keys.

?0VFN This error message appears if the number of data input in one of the
statistical modes exceeds 1,000. ST1 and ST2 can handle up to 999
data items.

?PRNT Printer-related errors: Press the key also to clear this error.

1) Errors may occur when the printer's batteries run down. Use after
recharging.

2) Errors may occur when the printkey ( () (1) , (w] (5) oretc.) is
depressed after the printer connection check is performed and
then the printer's power switch is turned OFF or the printer cable
is disconnected.

3) Connecting the Canon Thermal Printer X-711 (Optional)

1 Connecting the Printer
An optional thermal printer (Canon Thermal Printer X-711) can be connected to the
F-300P. This device will print not only calculation expressions and results, but also
comments and programs, and can provide hard copies of the contents of the display
screen. Attaching this printer greatly extends the F-300P’s range of applications.
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Before printing

Connecting the printer cable

(@) Make sure that printer's power switch is turned OFF.

(2 Remove the connector cap attached to the F-300P.

@ Leave the F-300P’s power switch ON (green) and connect the cable to the printer
connector.

(@ Turn the printer's power switch ON.

(B Press the (€] key with the display ON.
(When the display is OFF, press the (c] key twice.)

—

cumsren cucunon [P SO0P

Printer connection check

The F-300P has a function that checks the printer connection.

Press the (c] key as described in step &) above to perform this check. This check

should be performed:

1) After the printer cable is connected or reconnected

2) When the print key ({1 (3], () (=) or etc.) does not produce a printout even though
the power switch of both the F-300P and the printer are ON.

(The key has the same function as the (€] key.)

® Do not turn the F-300P’s power switch ON and OFF when the printer's power
switch is ON. This may cause meaningless characters to be printed.

® Do not press the reset key or check key on the printer during printing. This may
cause misprinting.

® The calculation results of coordinate conversion, input data and results of pro-
grammed calculations, and input data and statistical values in the statistical mode

are automatically printed.

Read the instructions included with the printer carefully.



2 Print Commands
The key operations used to control printing fall into 3 categories.

(1) This key is used to print calculation

expressions and comments, calcu- <Printout >
lation results, and programs.
(w)——(0) Prints calculation results. LE o it )
(1) it gl )
—) Prints the contents of the
line buffer, including FRG-1

TOCCSIDE ARMOL+SIDE
ERMOZ+EIDE CRMO3)+22
+5M0UxCRMOU-RMOL 23 (R

calculation expressions,
comments, etc. (2)

—=) Prints the contents of the MOU-RMO2) % (RMOL-RMOZ
line buffer and calculation 1 3=AREHA
results. (3)

—(1) — (7) Prints calculation expres- N LB

ST s S TR
sions stored in the seven 'ldh'u*":"_ &
i

. SGO12345eW
program memories.

(2) s Sets the size of the print characters. e R e
N, W or S is displayed on the 3 = |
message line. T ERO

: 3 e I O |
N: Normal (20 characters/line) T e g o
N = I }
W: Wide (10 characters/line) : i
S: Small (45 characters/line) 1234567090129456 7890123456 78901 2345
Note: ¢¥&& are printed only R30I 230567890
when N (normal) is set.

(3) (W) &m The entire contents of the display

are printed when this key is

. . ROV % O
pressed. The size of characters is Y EEE
slightly smaller even with 20 charac- A TR,

ters/line.

® To stop printing, press the (€] key.
® The minus sign (“small minus”) and the subtraction sign are printed in the same
way except during screen copy.



8 | Specifications

Model: Canon F-300P
Calculation Digits:

Mantissa, sign (1 digit), values (10 digits)
Exponent, sign (1 digit), values (2 digits)

Calculation Range:

+1.000000000 x 10-99—+9.999999999 X 10%° , 0

Calculation System:
Expression-based

Basic Calculation Functions:

Basic calculation:

Functions:

Addition, subtraction, multiplication and division,
parenthesis calculations, memory calculations and com-
binations of the above.

Trigonometric, inverse trigonometric, logarithms, expo-
nentials (natural and normal), square roots, cube roots,
squares, reciprocals, powers, root powers, factorials, hy-
berbolas,inverse hyperbolas, integer conversion,
sexagesimal-decimal conversion, polar-rectangular
coordinate conversion, and circle ratio (constant: ).

Statistical calculations:(Common) number of data items, sum, square of

Program Calculation:

sum,average, population standard deviation, sample
standard deviation.

(Two-variable) gradient and intercept of regression line,
correlation coefficient, multiple correlation coefficient,
sum of product of data, sample covariance, population
covariance, and estimates.

Storage of procedures and algebraic expressions
Capacity: up to 7 memories, 336 steps

Sign and Decimal Display

True value with minus sign
Conversion between exponential and floating decimal point display

Stacks:
Value stack: 8 levels

Operator stack: 16 levels



Memories:
6 fixed, expandable 0—42 (memory area shared with program function)
Memory Protection:
Battery backup (programs and memory contents protected)
Display:
5 % 7 dot matrix, 20 colums, 4 lines liquid crystal
Capable of displaying numbers, functions, operators, and 60 alphabetic and spe-
cial characters
Editing Functions:
Screen edit method
Cursor left/right shift, line up/down, insert, delete
Elements:
CMOS-LSI
Power Source:
4.5V (DC) alkaline (LR-44) or silver oxide (G13) batteries;
Power consumption: 7mW

Battery Life:
Approx. 100 hours of continuous use - - - - - - - - LR-44
Approx. 200 hours of continuoususe - - - -« - - - G13

Usable Temperature: 0°C to 40°C (32°F to 104°F)

Size: 194.5mm(W) x84.5mm(L) x 10mm(T)
(7-21/32"%3-5/16"%x13/2")

Weight: 151 g (5.32 0z.) with batteries

Batteries included with this calculator may not satisfy the battery life specifica-
tion given above.

Subject to change without notice.
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